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i) General Awareness

The basic types of traffic sign in circles
gives

(A) orders

(C) information

(B) warns
(D) guides

Figure shows the informatory sign
(E20) of

o
L]

(A) reserved parking

(B) parkig for goods vehicles
(C) parkgag for taxi

(D) parighg autorickshaws

The cogprehensive insurance policy
can b:¥renewed annually throughout
India in‘advance of
(A) two months
(C) one month

(B) six months
(D) four months

Which of the following statement/s is/are
true about Pradhan Mantri Innovative
Learning Programme — ‘DHRUV’ ?

1. It aims to identify and encourage
talented children to enrich their
skills and knowledge.

2. In the center of excellence across
the country, gifted children will
be mentored and nurtured by
renowned experts in different
areas.

(A) Only statement 1 is true

(B) Only statement 2 is true

(C) Both the statements 1 and 2 are
true

(D) Both the statements 1 and 2 are
false

5. Figure shows the cautionary sign
(C35) of

(A) Guarded railway crossing 100
meters ahead

(B) Unguarded railway crossing
50 — 100 meters ahead

(C) Unguarded railway crossing 200
meters ahead

(D) Guarded railway crossing 50
meters ahead

Figure shows the mandatory sign
(M31) of

&

(A) compulsory ahead or turn left

(B) compulsory ahead or overtake
left

(C) compulsory ahead or keep left
(D) compulsory ahead or turn right

Figure shows the mandatory sign
(M16) of

(A) U-turn prohibited
(B) left turn prohibited

(C) left hair pin bend
(D) right turn prohibited
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i) AT AN

1. T TR W & ITaand Tobd

TE
(A) AW

(C) g

(B) <l
(D) HFigsH

S gEATs g (E20) ST |
M
L]

(A) 3Trféra aife

(B) WieTaTEehi o forg wife
(C) =it vg Wik

(D) 3Terfeam grfda

. YRQWR § A9 SiHT qiterd i
T 1t ®9 | Feligha i <1 Fehel & |

(A) 29" (B) B:H®

(C) UHuTE (D) <R HTE

. I Tt AT STeT R - YF %

T Fefefaa d A Pa-T a8 7

1. 3991 Ted Siasa™ Sl o i
3R 3 # gaftha &3 F fore 39
YRS AT 3R FErEr 2 R |

2. TN H IR % g, IUR STeThI
1 qriesia iR 9o faf= aFf |
Toreama fasieg gr faman o |

(A) FaTFIT 1 A2

(B) o FUF 2 A &

(C) o 1323 da &

(D) U= 1 3N 2 3HI A &

5.

fm = 3aeH fug (C35) Eniar ® |
=
Iy

(A) 100 . 1M e Tora it

(B) 50— 100 . 311 3Rfara o i
(C) 200 . A IfET T FIRAT

(D) 50 Ht. 3 Tera era i

fm = afad fag (M31) Eofar & |

b

(A) ST &I Y R 1906 S

(B) 3MTEvds ¥Y ¥ 7 AT 1 &
Tt

(C) ¥d &9 ¥ 317 I7 =6 T8

(D) STETEH &Y Y A A1 TGS

o= 1 A fag (M16)
AT ® |

@

(A) U-ge ey
(B) = ge fmy
(C) =i R U dig
(D) =i ge g
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8.

10.

What is the main aim of developing
POSHAN atlas by the Ministry of Women
and Child Development (WCD) in
association with the Bill and Melinda
Gates Foundation and Deendayal
Research Institute ?

(A) To provide quality and nutritious
food for children till attaining the
age of 14 years in all the region of
the country.

To map the crops and food grains
grown in different regions of the
country and promoting regional
cropping patterns which are rich
in protein to tackle malnutrition.
To implement the scheme of quality
education with midday for children
till attaining the age of 16 years all
over the country.

(D) None of the above

(B)

Figure shows the mandatory sign
(M30) of

&

(A) compulsory turn right
(B) compulsory turn left
(C) compulsory turn ahead
(D) compulsory keep left

Direction signs on primary routes are
shown in

(A) Blue rectangles
(B) Green rectangles
(C) White rectangles
(D) None of these

11.

12.

13.

14,
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Figure shows the mandatory sign
(M17) of

compulsory overtake
overtaking prohibited
left turn prohibited
U-turn prohibited

Which of the following statement/s
is/are true about Surakshit Matritva
Aashwasan (SUMAN) Programme by
Central Government ?

1. The initiative aims at assuring
dignified, respectful and quality
health care at no cost to every
woman and newborn visiting a
public health facility.

2. It also provides a positive birth

experience to both mother and
infant.

Only statement 1 is true

Only statement 2 is true

Both the statements 1 and 2 are
true

Both the statements 1 and 2 are
false

(A)
(B)
(C)

(D)

The owner/driver of the vehicle must
report the occurrence of accident to the
nearest police station within

(A) 24 hours (B) 14 hours

(C) 10 hours (D) 12 hours

Figure shows the mandatory sign
(M32) of

O

(A) compulsory ahead or turn left

(B) compulsory ahead or keep left

(C) compulsory ahead or overtake
left

(D) compulsory ahead or turn right
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10.

foret oT Afcrer Tigm wEevm 3k fheaw

SIFEETH FET 26 G it 37 siret ferpra

AT FIT faehfEd qIeoT Ueer 1 e e

R 7

(A) =31 o &t | 14 39 i g I
T T SITeTehi ol TUrETgo] 3R 9y
IS 3UeTed AT |

(B) w1 =% faftr= &=t o woell o«
M0 QTR 261 AT 6 3
FAG H T & foru Wi &
A e T oA |

(C) <= H 16 FY 1 37 W FA
T ATeTehl = HEATEA HISH & |19
TorETget e it AT e |

(D) 3 H & IS TE

fo= =1 31fHar @ (M30)
29T e |

Y

(A) BT ST SATTEh
(B) =TE G STTEYAF
(C) AT BT SATSIIF
(D) T TET AT

mertaes | W fen g ¥ gyIe
A E |

(A) et 3Tmd

(B) & 31mad

(C) vad 3md

(D) 4 | FIg T

11.

12.

13.

14,
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R = aifyard g (M17) Soian &

@

(A) 3T e STaw

(B) i e fAftg

(C) =mige fafvg

(D) U-ge faftg

g TR g1 TS ST areft gifdra
T STETE (SUMAN) FTasH & a1
i Frefafaa i -G e o 8 7

1. T Ygd I 9189 U 99 ©@ey
F1 2 FE Gl T ﬂﬁmﬁﬁa%

2. TR HTAT IR TSI SH1 ol Ueh HehRIcHH
o IUeTsY HUAT 2 |

(A) Fad FYT 1 T &

(B) o HUA 2 HAE

(C) Fu 1322 A &

(D) U9 1 3 2 ST 376A &

STE 3 H1feTh / STETeh 1 gHer & ol Fare
e afrmesmd _ Fdfiwe
&t =nfeu |

(A) 24 %2 (B) 14%

(C) 10% (D) 12%%

o ARG IECIDATT
(M32) 91ian 2 |

o

(A) 7Y &9 H 7 1 910 g8

(B) TEgah &9 I A1 47 918 &

(C) TIvTF &Y W 7 &6 & AW
EET

(D) 3TEvES &9 & 71 A1 2 e
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16.

17.

18.

19.

Figure shows the mandatory sign
(M) of

(A) no way
(C) no parking

(B) no entry
(D) no standing

Indian wild ass (Ghudkhur) currently
listed by IUCN as

(A) Near threatened species

(B) Endangered species

(C) Extinct species

(D) None of the above

Figure shows the cautionary sign
(C27) of

(A) T-intersection (B) minor road
(C) majorroad (D) cross road

Figure shows the cautionary sign
(C26A) of

(A) Y-intersection
(B) staggered intersection
(C) side road left
(D) side road right

Figure shows the cautionary sign
(C16) of

(A) emergency way
(B) men at work

(C) cattle crossing

(D) pedestrian crossing

20.

21.

22,

23.
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Which of the following national parks of
the country is the last surviving natural
habitat of Asiatic Lions ?

(A) Bannerghatta National Park
(B) Gir National Park

(C) Bandhavgarh National Park
(D) None of the above

Figure shows the cautionary sign
(C14) of

(A) falling rock

(B) work at progress
(C) slippery road
(D) loose gravel road

Figure shows the cautionary sign
(C32) of

(A) men atwork (B) ferry
(C) hump (D) dangerous dip

Figure shows the cautionary sign
(C5) of

(A) left hair pin bend
(B) right hand curve
(C) right reverse

(D) right hair pin bend



15.

o o e fag (v19) soiar ® 1

16.

17.

18.

19.

(A) =l A (B) W&y fftg
(C) uidm g (D) @R w1 fifvg
Il €1 H IUCN BRT SIe i 97 1T (@)

% ® T gl R man g |
(A) foegE genfa

(B) HeheIrR< TSIt
(C) forgwa wefa
(D) I H 4 H1E I

o s fag (c27) st g |

/A

(A) T-uf=s
(C) H&=AHss
=

aEaT e |

A\

(A) Y-ufa=se

(B) e ufa==
(C) et =i Tg Amg
(D) et =l T 3TE

fo s <aEd fug (C16) sofan 2 |

(A) TR T
(B) FH I @I
(C) 93] 9raY

(D) Uee yrgY

(B) I uH
(D) =HE TSH
%1 =araHt fog (C26A)

20.

21.

22,

23,
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Frafafa % @ FF-a ude 3am e
IR o1 3 IRl ST WA § 7

(A) F=OTE T IEE

(B) s sam

(C) suaTE U 3aH

(D) 35§ T HE T

IGE| =1 =aradt fag (C14)
AT |

A2\

(A) Tireh =rzm

(B) =i wfg @

(C) TruemgH %
(D) Zreh st T

fo= &1 =aeH! g (C32)
T 2 |

A

(A) FEIATE (B) T

(C) 3R (D) WAt TS
fo= %1 =t % (C5)
A |

A\

(A) @md i 3 & U= g
(B) 314 & FI T
(C) =i 3R 3o
(D) = H 3 T o Hre



24, Which of the following is the longest

25.

26.

27.

road tunnel in India ?

(A) Kamshet tunnel

(B) Bhatan tunnel

(C) Chenani-Nashri tunnel
(D) None of the above

Figure shows the cautionary sign
(C11) of

(A)
(B)
(C)
(D)

road widens ahead
main road ahead
major road ahead

road narrows ahead

Figure shows the cautionary sign
(C4) of

left hand pin bend
right hand curve
right reverse

right hair pin bend

(A)
(B)
(©)
(D)

Figure shows the cautionary sign
(C9) f

(A) steep ascent (B) steep descent
(C) fallingrock (D) loose gravel

28.

29.

30.

31.

32.
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The Man Booker Prize 2019 for literature
was awarded to

(A) Omani writer Jokha Alharthi

(B) Irish writer Anna Burn

(C) Indian writer Aravind Adiga

(D) None of the above

Figure shows the cautionary sign
(C8) of

(A) steep ascent (B) steep descent
(C) fallingrock (D) loose gravel

Figure shows the cautionary sign
(C2) of

(A)
(B)
(C)
(D)

right hand curve
right reverse

left reverse

left hand curve

Figure shows the cautionary sign
(C28) of

Ai

(A) gapin median (B) rough road
(C) dangerous dip (D) slippery road

What is the basic monetary unit of
Bhutan ?

(A) Ngultrum
(B) Renminbi
(C) The Euro
(D) None of the above
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25.

26.

27.

F=fafas § 9 FR-t yra it ga8 w=h
e ?

(A) FHIG T

(B) wrad e

(C) BAF—T3

(D) 3o | & IS &

= =1 =t g (C11)
AT |

N

(A) 3T TEH I B
(B) 3T & UEH &
(C) T =g HEH B
(D) 31 HF G B

e =1 =t g (C4)
AT R |

A\

(A) =i g it AR i Hig
(B) 3T 7Y i AR 5H

(C) =Mt 3R I=an

(D) Trff 3R &R fua |9

fa= %1 JareH! 9% (C9)
AT R |

(A) et e (B) Hiefi 3auE

(C) frefiwem (D) dreht wwrli

28.

29.

30.

31.

32.
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qifecd & ford o B9 9o Tsw 2019 @
T e T ?

(A) I S S Feere

(B) RS T@F T 54

(C) WRda oi@s 3nfae sifem

(D) o | U IS &

e @ <amed fg (C8) swian ® |

(A) Hiefragg  (B) dfieft 3a
(C) freft=wgm (D) diehtamrdt

e o < fag (c2) ewfar ®

£\

(A) =T 7Ty Fi AR TH
(B) Trff 3R 3
(C) =i IR 3T
(D) sTd ey i AN TH

o = fuea (c23) ewfan ® |

AN

(A) "9 AU (B) G HSH

(C) @ TR (D) Thuergea gss

Y2 I SATIR Y1 $HE 18 7
(A) TegH

(B) fsh

©) I

(D) 39§ A HiE A



33.

35.

36.

Figure shows the cautionary sign
(C17) of

(A) loose gravel
(B) slippery road
(C) men at work
(D) school ahead

Figure shows the cautionary sign
(C18) of

(A) loose gravel
(B) slippery road
(C) men at work
(D) school zone

Figure shows the cautionary sign
(C30) of

(A) round right
(B) round left
(C) roundabout
(D) round pin

What is the capital of Canada ?
(A) Montreal

(B) Ottawa

(C) Toronto

(D) None of the above

37.

38.

39.

40.
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Figure shows the mandatory sign
(M8) of

@

(A) Truck prohibited

(B) Bullocks carts and hand carts
prohibited

(C) Bullock cart prohibited

(D) Cycle prohibited

Figure shows the cautionary sign
(C19) of

e

(A) Cattle
(C) Burrier

(B) Ferry
(D) Dangerous dip

Figure shows the informatory sign
(E13) of

(A) First aid post

(B) No through side road
(C) Y —intersection

(D) No through road

What is the chemical name of plaster of
paris ?

(A) Calcium chloride

(B) Calcium carbonate

(C) Calcium sulphate hemihydrate
(D) None of the above
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35.

36.
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o waed R (c17) i@ ?

(A) et sl

(B) Toruerge v
(C) FH =T w2
(D) = forerera &

= &1 =aras e (C18)
AT 2 |

(A) et s

(B) fhamga as=
(C) w=ua @R
(D) ferrer &3

fem_ s faea (C30)
AT |

£\

(A) 3 guE
(B) =i guE
(C) =

(D) o= g

FATST il THUTHT T8 ?
(A) wifgm

(B) 3Tem=n

(C) a@

(D) 39§ S T

37.

39.

40.
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=
ot ® |

@

(A) Z Fmy

(B) SemEt 7R w1 e Ry
(C) et iy

(D) wEfRe ey

= w1 Sae e (C19) swian ® |

2\

(A) I
(C) e

o1 Afar foea (M8)

(B) =t
(D) T TR

= &1 g e (E13)
e e |

(A) wrfiEs 3TER 9
(B) SIS I Y WS A&l
(C) Y -vfe=ae
(D) g =SH T

AR AT Ut 1 s T e R 7
(A) AT TS

(B) FAmW HEH

(C) ¥fxrm ac¥e efiersee

(D) I 8§ & L &



41.

42.

43.
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ii) General Intelligence and Reasoning Ability

E I 4 ’ (30 B =5 )

If = means ‘+, 4+’ means —, ‘X’ means
‘+' and '+’ means ‘x’, then which of the
following equation is correct ?

(A) 30-5+4+10x5=62
(B) 30+5+4-10x5=22
(C) 30+5—-4+-10x5=28
(D) 30x5-4+10+5=41

In the following sequence of digits,
how many odd digits are immediately
preceded by and immediately followed
by even digits ?
2968134876521343
6 8
(A) 4
(C) 5

(B) 3
(D) 6

A taxi driver commenced his journey
from a point and drove 10 km towards
North and turned to his left and drove
another 5 km. After waiting to meet one
of his friends, he turned to his right and
continued to drive another 10 km. He
has covered a distance of 25 km so far
but in which direction he is now ?

(A) North

(B) East

(C) West

(D) South

A, B, C, D and E each has different
heights. D is only shorter than B. E
is shorter than A and C. Who is the
shortest of them ?

(A) E
(B) A
(C) C
(D) None of these

45,

46.

47.

48.

Reeta drives to North of her place of stay
at A and finds after travelling 25 km that
she has driven in the wrong direction.
She then turns to the right and travels
2 km and then again turns right and
drives straight another 25 km. How
much distance she has now to cover
to go back to the point from where she
started ?

(A) 25 km
(C) 4 km

(B) 2km
(D) 50 km

In a cricket team, Dhoni is taller than Virat
but not as tall as Raina, Rohit is shorter
than Dhoni but taller than Shikhar. Who
among them is the shortest ?

(A) Dhoni

(B) Virat

(C) Shikhar

(D) Cannot be determined

In a row of boys, Jeevan is 7" from the
start and 11" from the end. In another
row of boys, Vikas is 10" from the start
and 12" from the end. How many boys
are there in both the rows together ?
(A) 38

(B) 40

(C) 82

(D) None of these

There are 25 boys in a horizontal row.
Rahul was shifted by three places
towards his right side and he occupies
the middle position in the row. What was
his original position ?

(A) 15" (B) 16"

(C) 120 (D) 10"
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i) |TAT= FhgE qen wrfthe araar

afg ' 1 Haed ‘+ B, ‘+ 1 Haee < ¥,
‘s’ Tl A+ & 3R ' o Aaes K B,
A A B - gt gd ® 7
(A) 30-5+4+10x5=62
(B) 30+5+4—-10x5=22
(C) 30+5-4+10x5=28
(D) 30x5—-4+10+5 =41

A &t 5 3T Fi e F§, R
AT % 3T TR e T e NG & 7
2968134876521343
68
(A) 4
(C) 5

(B) 3
(D) 6

T SR SIgat ek T W ITH R A1 8
IR 3T I 3 10 Toedt <t 2 | foe =7
i AR g 5 ot S B | 3 U
3 A firere 97 gt SR g ST ? ofR
10 TohHt i 21 1 2 | 39 TR 98 F
25 Tt = I =t &, wifeh 98 ot o
femH R 7

(A) IW

(B)

(C) ufvem

(D) oy

A, B, C, D 3R E y&is i 3= 3-
JATE IDFTABEBIAR I E, AIMRC
YR | FH B G B2 7

(A) E
(B) A
(€) C
(D) ¥ 4 I T

45,

46.

47.

48.

e 279 Frame T A @ 3T AR I
A B | 25 Tt <t = & ae a8 urdt @
o o Trera faen & an g 8 | 9@ 3 eI
g T & 37K 2 fft st @ o fomt grif
AR g 25 Tormt sht el mn = ¢ |
3797 YR T W aE 9 ¥ fore 3@
37N et o = Bt ?

(A) 25 forrdt (B) 2 Tt

(C) 4 ferrdt (D) 50 et

s forpe S, fome & Ot wen fRg T e
BT 8, 9 & Ufea Bier g e & <=
23 Y TS B R ?

(A) g

(B) fore

(C) T

(D) TRuife =2 foma s wekan

TSH! o Teh Uy #, Siiae = T IR
7741 A Y 11731 & | bl =hl gt dfet
¥ forerrg 1 TH IRY & 10 9 SR T
1291 & | 41 eI ufel § e Tohas e
HSE & 7

(A) 38

(B) 40

(C) 32

(D) 1 & FE T

ue &fcst 4 H 25 T AN © | T
3ue g 3R i T e o e
ST 2, 4 39 ufe 3 s o v ae w
ST 7, A 36 YT T 1 91 7
(A) 154t (B) 164t
(C) 123t (D) 104t
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49.

50.

51.

52.

Aman is 16" from the left end in a row
of boys and Vivek is 18" from the right
end. Gagan is 11" from Aman towards
the right and 3™ from Vivek towards the
right end. How many boys are there in
the row ?

(A) 40
(B) 42
(C) 48
(D) 41

Radha remembers that her father's
birthday is after 16" but before 21¢
March, while her brother Mahesh
remembers that his father's birthday is
before 22™ but after 19" of March. On
which date is the birthday of their father ?

(A) 19" March
(B) 20" March
(C) 21'March
(D) Cannot be determined

Complete the following series :
4, 8,28, 80,244, 7

(A) 278

(B) 428

(C) 628

(D) 728

If the following equations has to be
balance, then the signs of which of the
following options will be used ?

24 6 12 _16=0
(A) — +and +
(B) = +and~+
(C) —,—and -
(D) + +and-

53.

54.

55.

56.

MKG-XXXVGENSCD/1T/02

Statements : x>y, y>2z z>H
Conclusions :l. x> z
Il. H>x.

By taking the statements always
true, you have to decide which of the
following is always follows ?

(A) Only conclusion | follows

(B) Only conclusion Il follows

(C) Neither conclusion | nor Il follows
(D) Both conclusions | and Il follows

Amit said to Mohan, “That boy in red
shirt is younger of the two brothers of
the daughter of my father's wife”. How
is the boy in red shirt related to Amit ?

(A) Father
(B) Uncle
(C) Brother
(D) Nephew

Gopal said pointing to Govind, “His
father is my father’s only son”. How is
Gopal related to Govind ?

(A) Grandfather
(B) Grandson
(C) Son

(D) Father

Which one of the following diagrams best
represents the relationship between
Snake, Lizard and Reptiles ?

© &
G

(A)

(©) (D)

O

O
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TS hl U Ul § 379 9 SR d 16 9
R REsRfAwEsna 18d ™MW
2| TH, 3T ¥R 3 11 T RF W R
3R fad O orff oin et T e R | ufe
T e fofe T8 € 7

(A) 40

(B) 42

(C) 48

(D) 41

[T I8 ! & Tor saeh famsh = s=afes
16 T % =11 g 21 AT & UR 7, SaifR
IAFVE AT TR AT & T3 309 famsh
%1 SAfed 22 TTE ¥ et fohg 19 U &
a1E B | 3 TUdrsil o1 Suie fohd i@
FIET7

(A) 19 1

(B) 20H™

(C) 219

(D) Trutf 7€ fomm sm A

frfefaa sae =@ ;
4, 8, 28, 80, 244, ?

(A) 278

(B) 428

(C) 628

(D) 728

afe FfaRaa @i i ggfea Fm e,
a1 fai & Frafafaa § 9 e fommea =
3 fepa s ?

24 6_12_16=0

(A) —, + 3 +

(B) + + 3+

(C) - -3~

(D) =+, + 33—

54.

55.

56.
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SUYH x>y, y>z,z>H

Ferd: | x>z
II. H>x
A1 1 gHI e wHd ¢ it Hifsg

%ﬁn%f@ﬂﬁﬂq—mm%ﬁmw
?

(A) Fact Ry | STgER0T T &

(B) haret e |1 S1gEor el &

(C) it T | R & 11 STewon e &
(D) e | 371 11 ST STE W ©

fya 3 g ¥ FE, O wHS ° a9w
wree WL faarsh i goht i 5 F 2 el
HusEaEne | a1 e FHS 9
TSHF Y FEET R 7

(A) foa

(B) ==

(C) 3

(D) Srdfs

g i AR I FA g MG A el
“Zas fast M ash F A e |
T 1 e d IR 7

(A) =mT |

(B) dr

(C) ¥
(D) foam

Frferfiae i & e s i, Roweeh
S wlige o e = o G e 7

©-C
o OOO "



-

57.

58.

59.

60.

A tourist drives 10 km towards East
and turns to right and takes a drive of
another 3 km. He then driven towards
West another 3 km. He then turns to his
left and walks another 2 km, then he
turns to his right and travels 7 km. How
far is he from his starting point and in
which direction ?

(A) 10 km, East
(B) 9 km, North
(C) 8 km, West
(D) 5 km, South

D is B's father, B is C’s sister-in-law and
A’s daughter. How is A related to D ?

(A) Wife
(B) Mother
(C) Father
(D) Husband

Amit is the son of Rahul. Sarika who
is Rahul’s sister has a son Sonu and
a daughter Rita. Raja is the maternal
uncle of Sonu. What is the relationship
of Raja with Rita ?

(A) Paternal Uncle

(B) Brother

(C) Maternal uncle

(D) Nephew

Sham travels 7 km North, then turns
right and walks 3 km. He again turns to
his right side and move 7 km forward.
How many km is Sham away from the
his starting point ?

(A) 7 km

(B) 3km

(C) 6km

(D) 14 km

61.

62.

63.

MKG-XXXI/GENSCD/1T/02

The age of Ram is twice the age of
Shyam and half the age of Sohan,
Shyam is elder than Mohan. Who is the
eldest ?

(A) Mohan

(B) Ram

(C) Sohan

(D) Shyam

In a certain code language, 461 means
‘where are you’, 169 means ‘you are good’
and 8652 means ‘flowers are not bad'.
How will ‘where not are good flowers’ be
written in that code language ?

(A) 68954
(B) 46598
(C) 45698
(D) Data inadequate

There are six children playing football,
namely P, Q R, S, Tand U.Pand T
are brothers, U is the sister of T. R is
the only son of P’s uncle. Q and S are
the daughters of the only brother of
R's father. How many male players are
there ?

(A) One
(C) Four

(B) Three
(D) Five

Rahul walks 30 mtrs towards South.
Then turns to his right and starts walking
straight till he completes another
30 mtrs. Then again turning to his left
he walks for 20 mtrs. He then turns to
his left and walks for 30 mtrs. How far
is he from his initial position ?

(A) 50 mtrs

(B) 30 mtrs

(C) 10 mtrs

(D) 60 mtrs



97.

e A v e At 37K 10 ferdfi stran 2 @7k

- TRl R e T 3 foeft san @ | w=T &

58.

59.

60.

She

fyem =t 3R o 3 et st @ | R =t
T 91 gea 2 fodt Yeat s ® | s
A Rl IR ge 7 Rl fr amFan # |
T8 39 RIS T 8 forat g R o
frafamag ?

(A) 10 fort, @@

(B) 9 famt, 3w

(C) 8 Temet, ufwem

(D) 5 fertdt, aféqor

D,BH fua ®, B, CHi A"z 2 3 A i
SAEIAF DI 2 7

(A) Tl

(B) #i

(C) faam

(D) dfd

Afi, TES BT B | Tge ) o Wil
ol U oI A 3R =i e @ | T, 6ig
AT 2 | TSI T A R day @ 7
(A) =TT

(B) i

(C) =m

(D) rcfisT

i 7 fordt I At I Teran B, T aE
i STR g wiTan & 37k 3 forft wiran 2 |
TS aE aroeft awff o g Sva & ofi 7 o
T R | < 3T 97 379 TR T 8
T foft g 2 7

(A) 7 it

(B) 3 et

(C) 6 it

(D) 14 feft

61.

62.

63.

MKG-XXXIVGENSCD/1T/02

Tm i 37y v ) g F ST of Hie
i 211 % o1t ® | W, Higd Y @RI,
e b i

(A) #re

(B) TH

(C) Hrea

(D) =™

U FIS WINT H, 461 1 TAs ‘where are
you' 8, 169 I Haeid ‘you are good’ ?
3R 8652 1 Ao« ‘flowers are not bad'
&, A1 3L FIe 9T H ‘where not are good
flowers’ = &1 foran smam ?

(A) 68954

(B) 46598

(C) 45698
(D) 9T BT

P,Q,R, S, T 31 U 9T % B8 si=d $edicl
TARE IPMTYEE, U, THaR |
R PHAEIF GHEIHA AR |QHR S, R
% foarsht & wwmm oné 6 afeat & | e
foham gew faemt & 7

(A) T (B) @A

(C) =’ (D) ur=

Tge aféqor it 3iR 30 t Ter ¥ R g
TR g Hte 30 ot wreral § | R awf oir
T ST & 37K 20 Hi =1 ® | 3UH e 97
ot sl o1 gea 30 i Ieian © | o 98
3 ST v o et gl wee ¢

(A) 50

(B) 304

(C) 10t

(D) 60 i
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80 people in a colony were surveyed
and it was found that for every 6 people
who read The Hindu’, there are 4 people
who read ‘Times of India’. For every
9 people who read ‘The Hindu’ there
are 3 people who read both of them.
Further, the number of people who read
both of them is same as those who read
neither of them.

How many people read only ‘Times of
India’ ?

(A) 12
(B) 18
(C) 16
(D) 24

Identify the diagram that best represents
the relationship among the classes
given below.

Tea, Coffee, Drink.

(A)

(C)

(D)

®BE8R©

T

78.

79.

MKG-XXXV/GENSCD/1T/02

Pointing to a photograph Yuvraj says,
“He is the only brother of the only
daughter of my sister's maternal
grandmother”. Pointing to another
photograph Sourav says “He is the
only brother of the only daughter of
my sister’'s maternal grandmother”.
If among the two photographs, one
was either of Sourav or Yuvraj and the
photograph, towards which Yuvraj was
pointing was not Sourav, then how is
Yuvraj related to Sourav ?

(A) Paternal uncle
(B) Maternal uncle
(C) Grandfather

(D) None of these

In a class, 72 students drink only tea,
50% of the students drink only coffee,
25% of the students drink both tea and
coffee and 5% of the students drink
neither tea nor coffee. What is the total
strength of the class ?

(A) 160 (B) 180
(C) 140 (D) 120

12’ is related to ‘30’, in the same way
as ‘18’ is related to

(A) 36
(C) 44

(B) 42
(D) 45

Statement : All men are cats.
No cats are home.

Conclusions : |. Some men are
home.

Il. Some home are
cats.

(A) Only conclusion | follows

(B) Only conclusion |l follows

(C) Neither conclusion | nor |l follows
(D) Both conclusions | and Il follows
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TF FHIGH! % 80 T H1 T AT T
31t 7% grn T R T g v At werE
6 T o & 4 TN T 7% e ugd
21 3T yeI TR 9 @i H ¥ 3
@ 2 Ued § | 78 off g wn £
qgAaTel ! Gl 3o+t &1 & forat <1 Rl
€ 7 Ygarl il TET R |

Tore <M A ‘23R AT Sfean ged & 7
(A) 12

(B) 18

(C) 16

(D) 24

34 ATFHf Y gE=IH e s few me a

o ST Gelll ol Gl Fel <nan &l |
o, R, 9T qerd

77.

78.

79.

80.

MKG-XXXVGENSCD/1T/02

IRl 3R FIT Fd §C I A hel, e
T w7 i A <l CHAT G o T TS
2 | qEER R S 3T R g EE A
1, ‘a8 ¥l 5w 6t T f e
THEAE WS € | AR 3 I PR H 8 T
a1 ZaUst il @ TR Far i $IR
@1 ¢ 9% URa 7 7, @ goRS H ERE |
FEEI R 7

(A) ==

(B) =T

(C) =me

(D) 1 & i e

T F11 8 72 B oo 9 id &, 50% B
A Fihl i &, 25% BT =1 3R HH
21 did & 3R 5% B 7 =™ I & T i
i &, <1 s 3 ol i g e Rt R 7
(A) 160 (B) 180

(C) 140 (D) 120

‘12’ % GaY ‘30’ ¥ J@1 A B, S fR 18
1 Hay |

(A) 36 (B) 42

(C) 44 (D) 45

o ; weft e, foeefi € |
1$ faeeh, AR |
frerd : 1. 7o ameh, W E |
. T8, foreefi 2 |
(A) e Fred | STgETor S &
(B) hac T || STTER0T AT &
(C) =7 Freamd | 3 11 SO e @
(D) 2t sk | TR 1| ST A &
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Choose the irrational number from the
following.

(A) 5-+9 (B) 5-+3
(C) 5-+16 (D) 5-169

A rational number x = P has a
q

terminating decimal expansion, if q is
in the form
(A) 25"
(C) 2.5"

(B) 275
(D) 2.5

An army contingent of 616 members
is to march behind an army band of 32
members in a parade. The two groups
are to march in the same number of
columns. The maximum number of
columns in which they can march is
(A) 10 (B) 12

(C) 8 (D) 183

There is a circular path around a sports
field. Sonia takes 18 minutes to drive
one round of the field, while Ravi takes
12 minutes for the same. Suppose they
both start at the same point and at the
same time and go in the same direction.
After how many minutes will they meet
again at the starting point ?

(A) 30 minutes (B) 36 minutes

(C) 20 minutes (D) 24 minutes

FP=2x4x6x...x20andQ=1x3
Xx5%...%x19,then HCFof Pand Q is

(A) F¥x5x7 (B) 3*x5
(C) 3*"x52x7 (D) 3x52

98.

99.

100.

101.

102.

103.

MKG-XXXVGENSCD/1T/02

For any natural number n, 9" cannot end
with the digit

(A) 1
(B) 2
(C) 9
(D) None of these

If x and y are odd positive integers, then
X%+ y?is

(A) Even and divisible by 4

(B) Even and not divisible by 4

(C) Odd and divisible by 4

(D) Odd and not divisible by 4

Degree of the polynomial

7q° + 49° -»%q4 +8is

(A) 6 (B) 2
(€) 4 (D) g

The polynomial 3 + 2z + 4z% is
(A) Linear

(B) Quadratic

(C) Cubic

(D) Biquadratic

If 2 is a zero of polynomial
p(x) = 4x? + 2x — 5a, then value of ‘a’ is

(A) 2 (B) 4
(C) -5 (D) 0

Value of ‘a’ if x + a is a factor of the
polynomial 2x2 + 2ax + 5x + 10 is

(A) 2
(B) 5
(C) 10
(D) None of these
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Freferfiaa # & st e 4 |
(A) 5-+9 (B) 5-3
(C) 5-16 (D) 5-+169

u TRE HE X =% =1 Hiftrd v
T &, afe q 39 ®9 H '

(A) 25" (B) 2°5™

(C) 2.5" (D) 25

U WE U 32 Gl 9T 81 o S & U
616 HaEA| ol T il ZHS! il FoHT © |
21 UHE ! U WS % Fiad § 4
FHT 2 | FHicd hi Afewray ge frad
Bt forem & v e e ?
(A) 10 (B) 12
(C) 8 (D) 13

T T 1 e U gaehr TR | B R |
it fE o1 U Ta aTE | 18 fiFe
%1 THY Sl & Ssfeh Ud I 36 T 12
fime o 2 | 3k 391 v & o, wE @
WH § R @ o § Fen g #=,
4t foraet fire % wire 291 fo & o =
o fieim ?

(A) 30 fiFme
(C) 20 &=

(B) 36 e
(D) 24 Tz

IR P=2x4x6x.... x 20 3R
Q=1x3x5x..x19%, @ P3MWQ

1 HEaH GHTIadeh &1 B8IT 7
(A) 3¥x5x7 (B) 3*x5
(C) 3*x52x7 (D) 3*x5?

98.

99.

100.

101.

102.

103.

MKG-XXXVGENSCD/1T/02

et wrpfares @@ n & fow, o0 % oA H
I ©1 37k A2 & Fehall ?

(A) 1

(B) 2

(C) 9

(D) ¥ & FIE TE

ﬁxﬁ?yﬁ@%@ﬁ?%,?ﬁxa-by?
il

(A) TW 3R 4 9 =g

(B) §W 3R 4 & Afaursy

(€) fawm 37t 4 & fawrsw

(D) Tawm 37t 4 3 sifawrs=

EIE 79° +49° +-g-q4+87=ﬁ%£ﬁ
R 7
(A) 6
(C) 4

(B) 2
3
(D) =
9g9e 3 + 2z + 4Z° 2

(A) @

(B) fgmm

(C) P

(D) =gaid

Hﬁﬁgﬂﬁ p(x) = 4x% + 2x — 5a 1 U I[A
28, 1 ‘a’ %1 HH feran g ?

(A) 2 (B) 4

(C) -5 (D) 0

Ifa SigUE 22 + 2ax + 5x + 10 1 Th I
X +ag, d ‘a’ 1 9 feraan g ?

(A) 2

(B) 5

(C) 10

(D) ¥4 & I
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If zeroes of the polynomial
x*+ (a+ 1)x + b are 2 and -3, then
valueofa+bis

(A) -6
(C) -2

(B) 6
(D) 3

If oo and B are zeroes of the polynomial
x?—p(x + 1) + c such that (. + 1)(B + 1)
=0, then value of c is

(A) 1

(B) -1

(C) O

(D) -p

If one zero of the polynomial 2x? — 5x
— (2k + 1) is twice the other, then value
of kis

(A) L

® -3

(C)

©|ls o,

© 2

If oo and BB are zeroes of a quadratic
polynomial x? — 25, then quadratic
polynomial whose zeroes are 1 + o
and1+fis

(A) x2+2x+24
(B) x*—2x+ 24
(C) x2+2x—24
(D) x2—-2x-24

What should be added to the polynomial
x* + 2x* — 9x + 1 so that it is completely
divisible by x + 4 ?

(A) -5

(B) 6

(C) 38

(D) 7

109.

110.

)t 8

112.

MKG-XXXI/GENSCD/1T/02

If one of the zeroes of a quadratic
polynomial of the form x? + ax + b is the
negative of the other, then which of the
following is correct ?

(A) Polynomial has zero factors

(B) Constant term of polynomial is
negative

Both (A) and (B) are correct
Neither (A) nor (B) is correct

©
(D)

The difference between two numbers
is 642 when the greater is divided by
the smaller, the quotient is 8 and the
remainder is 19, the sum of cube of
numbers is

(A) 391322860

(B) 319322860

(C) 319322680

(D) 391223860

If the lines given by 2x + ky = 1 and
3x — 5y = 7 has unique solution, then
value of k is not equal to

10
® -3

=2

®) -

—

(C)

w|n

5
® -3

For what value of k, the following linear
equations 2x + 3y =4 and (k + 2)x + 6y
= 3k + 2 have infinitely many solutions ?
(A) 0 (B) 1
) 2 (D) 3
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I TFIR X + (@ + 1)x + b & I 2 30K
-3 %, dl a+ b & AH FTEM ?

(A) -6 (B) 6

(C) -2 (D) 3

I3 9898 X2~ p(x + 1) + ¢ T o IR P
TYFRAEH (+ 1)(B+1) =08, A
¢ =T 9T 91 81T ?

(A) 1

(B) -1

) o

(D) -p

7fe FFIR 2x2 — 5x — (2K + 1) F T YA
THL T AT &, A k 17 e g ?

(A) ) ~——

9

(C)

ol Nlo

© 2

a7t e Tt sgue X2 - 25 % Y o 3R
B8, e faeieh g o S v v
1+03N1+BE7?

(A) X*+2x+24

(B) x>—2x + 24

(C) x*+2x—-24

(D) x*—2x—-24

TETE X° + 2x2 — Ox + 1 H 1 SIST ST ATk
T8 X + 4 ¥ YUT: farrs €1 sy ?

(A) -5

(B) 6

(C) 3

(D) 7

109.

110.

111,
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Ffe el agR FI F YA 2 + ax + b
9 H 8 3R TE FH FONHF 8, O 790 4
FATFIATE R ?

(A) STETE % Y[ U Bd

(B) =g9a %1 faa wa e 2 §
(C) (A) 3R (B) FHI Wl &

(D) T (A) 3 7E (B) @l &

&) TS 1 IR 642 B | AR T wEAN
F B T T e S, @ IR 8 ST
2 3 NIy 19 AT B, O 37 HEASA & T
T 0T T BRI 7
(A) 391322860
(B) 319322860
(C) 319322680
(D) 391223860

Ife 2x + ky = 1 3K 3x — 5y = 7 g &
8 Y@t o Afgda e 8, 9 k 1 aH

T8 © 91 78 B ?
10
(A) .
2
(B) I
2
(C) 3
5
(D) e
112. g AT 2x + 3y = 4 3R (k + 2)x + By
= 3k + 2 7 k 3 Tope o o foru gaeh a1t
w9 Y FE GHYH B GFA & 7
(A) O (B) 1
C) 2 (D) 3
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Five years ago, Jacob's age was seven
times that of his son. After five years,
age of Jacob will be three times that of
his son. What is Jacob's present age ?

(A) 35 years
(B) 40 years
(C) 39 years
(D) 43 years

Solution for system of linear equations
ax+by—-a+b=0andbx—ay—-a-b=0
are
(A)
(B)
(C)
(D)

x=1,y=1

x=1y=-1

x==1,y=1
=—1,y=-1

A man has % 100 in the form of ¥ 1 coins
and 50 paise coins. All the 50 paise
coins are worth as much as all the ¥ 1
coins, then number of 50 paise coins he
has is

(A) 25

(B) 50

(C) 75

(D) 100

Aruna has only ¥ 1 and ¥ 2 coins with
her. If the total number of coins that she
has is 50 and the amount of money with
her is ¥ 75, then number of ¥ 2 coins
are

(A) 15

(B) 25

(C) 20

(D) None of these

117.

118.

119.

120.

MKG-XXXI/GENSCD/1T/02

If the sum of the digits of a two digit
number is 8 and the difference between
the number and that formed by reversing
the digits is 18, then the number is

(A) 62
(B) 17
(C) 58
(D) 44

Solution for the equations x + 4y = 27xy
and x + 2y = 21xy are

(A) x=3,y=15
1 el
(B) X= Y=g
1 1
C) X=—,y=—
(C) x B Y=3

D) x=15,y=8

4 men and 6 boys can finish a piece of
work in § days, while 3 men and 4 boys
can finish itin 7 days. The time taken by
1 man alone to complete the work is
(A) 30 days

(B) 70 days

(C) 55 days

(D) 35 days

Students were standing in rows for a
mass drill. If one student is extra in a
row, there would be 2 rows less. If one
student is less in a row', there would
be 3 rows more. Then total number of
students are

(A) 60

(B) 54

(C) 49

(D) 63
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UT Y TR Siohie sl 3T Ik S hl 31
o 91 7T off | 9T 9 o 918 Stehie ht 31
35 oI il 3T 3 of om B S | SR
i FaaE o1y Ferat & 7

(A) 35a9

(B) 404

(C) 399

(D) 4378

T gHiE ax + by —a + b = 0 3K
bx — ay —a — b = 0 @t Yot 1 THEE
1 =B 7

(A) x=1,y=1
(B) x=1,y=-1
(C) x=-1,y=1

(D) x=—1,y=-1

T 3TEH1 % U1 100 FICE, S 1 F991 3R
50 U8 o foerh F wa § ® | ot 50 i
T IaT &1 8 Toren o 1 v 3 figerpl €,
50 ¥ % Torerni Y g e ? 7
(A) 25

(B) 50

(C) 75

(D) 100

TEUTT % YT A 1 FIC AR 2 T F
T € | afe fyarnt it et T&31 50 & 3R
TR 2 75 2, Al 2 ¥ o faeni 6t g
a2 ?

(A) 15

(B) 25

(C) 20

(D) T 8 = &

117.

118.

119.

120.
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Ffe 3 37 ATch Uh G H IR H AN 8 &
W et T U 3R 1 T sEe 8 T
T 1 3R 18 &, Al 98 GEm -t 2 7
(A) 62
(B) 17
(C) 53
(D) 44

R X + 4y = 27xy X + 2y = 21xy
1 FHILT 1 8T 7
(A) x=3,y=15

(D) x=15,y=3

4 et 3R 6 wies foFdt »m 1 5 &=
¥ qU A & Sifh 3 oTel iR 4 9
shama 7 i R asd & 1T
ket o7t 39 %W At e T 8 g
FLHFHATE 7
(A) 30f&=
(B) 70T
(C) 55f&
(D) 35T

e e & o smm ifREi f @ AT R
9 | gfe ot ufer o v o1 S1fe B e
2, 4 2 ufers =m B st | afe R ofaa
U B F4 8 9l 8, df 3 ufad 31t =
et | S R e e fora @ 7

(A) 60

(B) 54

(C) 49

(D) 63
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121.

122.

123.

124.

125.

126.
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iv) Hindi Language and Comprehension

& v iR =y

159 Srutq, Foren =z 7 danl =
+i sed 2|

(A) iRt (B) fa=dt

(C) = (D) =rg e

ug vee ‘wf w aaEneft aE ¥

(A) & (B) e

(C) e (D) =3

frefafea o @ #F-a1 ys8 FHeaEs
foran fagior 2 7

(A) si-=md

(B) st

(C) =

(D) YR

Aive T i TrEiE B
(A) Fae

(B) o

(C) e

(D) S

UCEAIREAC IR

(A) TSR & 3T 98 THT G|
(B) =& AT HH L FH|

(C) wfetes A1 | W FETT 2l
(D) 39tea afi

vaigare 9158 S HH-11 I G T R ?
(A) sgd-awdt  (B) arfa-fag
() #ifa-fmmr (D) afEA-sm

127. o I @ sved o 9y B ®, A
FEd T
(A) Tormams  (B) @<eaE®
(C) T=o@m=sh (D) WoiETEs

128. “fogmen’ w1 avi o=l R |
(A) 3+ +F+3M+H+ 30
(B) SI+3++3+3AT+Y + 3T
(C) I+3+3AT+F+H+ 3
(D) S[+3+3AT++3+H+3A

129, ‘ST 1 wgaeA @
(A) 34 (B) S
(C) S (D) S

130. ‘Hf’ w1 agEEAR
(A) =i (B) =it
(C) whfermit (D) =i
131. ‘Tiftre GEfee 9 = 15 || W@ifsa weal
- -7t
(A) Fal FH
(B) FH F:F
(C) I FRH
(D) 3T FHEF

132. ‘% oM @ef i 8| @ifeha yeat o
FIE
(A) GelE FRH
(B) ©=Y FH
(C) FH &
(D) EYEH FRH
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133.

134.

135.

136.

137.

138.
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IS AT YEEIY

(A) 39% 3 =1 g5 g 78 2 |
(B) T3 sl foh g el wWa @ |

(C) & =R ot ot & S1arwa =T s
(D) 3T 9 g &l

ST I 9% 30l B | AR e R
(A) HeEaTEH
(B) Thdar=eh
(C) mEEH
(D) e

e H A 21 38 A | R e
IR ?

(A) TEHiET (B) 4

(C) Frwam (D) i
Frafofea 3 @ Fe-d snfda=s g e ?
(A) FHAT (B) Uvad

(C) =y (D) frar
‘apvfiee’ = wftr-foreee B

(A) 3 + 3=

(B) 31 + sfie

(C) 3 + 3=

(D) 3t + §=

‘e + 3caa’ Gf-foese frafr
(A) arfiersca

(B) aTf¥ehiced

(C) aff=icas

(D) =nfieRIcEa

139.

140.

141.

142.
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TR SR ST 3 R
(A) ST M T

(B) STEd SATET e

(C) ©ire ¥ gd Feell

(D) FTET H ST el

‘IS S | T 97 B
(A) =9 T ST

(B) HIg s I

(C) Ffegasm

(D) et g @M

T hifs |
. TR WEERAI e | qd

a
b. 2fd @2 & 1. et &

3TaFRA T 3741 ., STSHET
V. &M

o

d. =HE H9H{T
a b ¢
(A Mmoo
@ v 1
© m 1
D) nm m v I

‘TEeF g T PH-aI EE e ?
(A) o T
(B) 3r=dIE THIH

(C) wrEsiife TH™
(D) FHURT HHE



143,

144.

145.

146.

147.

148.
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g’ w1 e w2 2
(A) T
(B) fae=m
(C) we
(D) g=H

‘e T A o e R
(A) @ETeft ST TR STaTs T g |
(B) v =1 st T s |

(C) 3ira1 2wt 2197 e 1 1 @
Fare |

(D) =T TS | TS AT R |

Y&, a1 g |

(A) TR F e S R |
(B) A fawett 3T R |
(C) sl fieelt ASMTR |
(D) T et ST 2 |

o =81 =1 =1E oft @ areds 7 B, 3
FETd &

(A) &g

(B) i e

(C) TTTEG =2

(D) 3JuEt

57’ v H B-w U R A 98 5
1 faemreds g ST g ?

(A) (B) dit

(C) (D) &

Frefefaa i asm-arw 5 a4
TR

(A) 3
(C) it

(B) HmIfIH
(D) =g &

149.

150.

151.

152.
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‘g I I e s ¥ fou e
eI =1 AT R S R ?

(A) 31g

(B) ¥

(C) =

(D) 3

‘T W A Al 3 S % e s
e B

(A) st

(B) et

(C) feraf=

(D) StEuf=

3= <l Iae = Bt ?
(A) F=uaw

(B) I=EH

(C) 3=

(D) 3==m

firem hifs |

a. 9=~

b. &AM

. 7nfe Gy

Il & afy

c. e . o1 e

d. wfasy IV. 3oy Gy
a b ¢ d

(A 1wV

@ 1 0 owvom

© m v n 1

@ IV 1



153. e $Hifsw |
a. fomre
b. 4
c. HI&x
d. fo
a b
(A Il IV
® 1
() m v
D) 1

154.

155.

A | IV
B) IV I
C) Il v
) m
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. fRem
. &

Il g

V. 39
c d

(]
" v
(I
"

156.

157.

158.

159.

160.
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3, ¥, AR E e B
(A) St

(B) ™

(C) wui

(D) ®FH

= 0@ ey avf FH-a € ?
(A) 3,37
(B) &,
(C) 3,89
(D) &,

Frafaftaa ¥ & FF-a1 e qem & 7
(A) G
(B) #WR
(c) ufx
(D) ®M

STl yreal o -| I e R R 7
(A) THT - 33, [T & foan

(B) A-Tasm, a=

(C) Hua—weh, =gl

(D) A - &, T

a1t Y 21 d awi g ot || 78 e wen
FAHE 7

(A) T T

(B) T AT

(C) Tafdm amm

(D) T & IS T
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v) English Language and Comprehension
SR e 3R Sy

Fill in the blanks with appropriate articles from
among the choices given below them.

161. children were not at home.
(A) A

(B) An

(C) The

(D) None of these

162. He wants to become
(A) an
(B) a
(C) the

(D) no article required

actor.

163. daughter should obey her

parents.

(A) An

(B) A

(C) The

(D) None of these

o

164. He drives 60 kilometers hour.
(A) a
(B) the
(C) an

(D) no article required

Find out the wrongly spelt word from among
the choices given below.

165. (A) Extant
(B) Exterior
(C) Extort

(D) Extrect

166. Casual
Candid
Convercant

Catastrophe

(A)
(B)
(©)
(D)

(A)
(B)
(C)
(D)

(A)
(B)
(&)
(D)
Choose the correct synonyms of the words

underlined from the alternatives given below
them.

167. Vocal
Focal
Mystical

Vehical

168. Rein
Neigh
Neither

Neice

169. The poor man cannot afford to satisfy
even his basic needs.

(A) Manage
(B) Depend
(C) Borrow
(D) Steal

170. The chapel is really beautiful.
(A) Small garden
(B) Small bridge
(C) Small church

(D) Small school

Courtesy is very important to build
healthy relationships.

(A) Good behaviour
(B) Polite behaviour
(C) Honesty

(D) Trust

171.



i
172. The hungry little boy cried miserably.
(A) Painfully
(B) Excitedly
(C) Softly
(D) Sadly

Fill in the blanks with the antonyms of the
words underlined from among the choices
given below them.

173. The heavy gadgets have been replaced
by ones.

(A) Light
(B) Dense
(C) Harsh
(D) None of these

174. Many a time vegetables

are more nutritious than thick ones.
(A) Light
(B) Thin
(C) Broad
(D) Wide

175. The officer was replaced by
a friendly person.
(A) Amiable

(B) Matey

:(C) Sociable

(D) Hostile

176. -The chief guest spoke the

vote of thanks but after the welcome
speech.

(A) Later
(B) Behind
(C) Before
(D) Following

-35-

MKG-XXXVGENSCD/1T/02

Give one word substitutes for the following.

177. To search thoroughly.
(A) Scour
(B) Manipulation
(C) Conviction
(D) None of these

178. To speak without clarity or indistinctly.
(A) Mumble
(B) Glimpse
(C) Tyranny

(D) Shin

Fill in the blanks in the following sentences with
the correct forms of the words given in brackets
from among the options given below them.

179. The new student danced
(awkward)

(A) awkwarded
(B) awkward

(C) awkwardly
(D) none of these

180. He suffers from

(Inferior)

(A) Inferior

(B) Inferiored
(C) Inferiority
(D) None of these

complex.

Identify the underlined part of speech and
choose the correct answer.

181. The burglar disappeared with the cash.
(A) Transitive verb

(B) Intransitive verb

(C) Linking verb

(D) Auxiliary verb



i
182. Dennis became impatient when Thomas
took so long choosing a movie.
(A) Transitive verb
(B) Intransitive verb
(C) Linking verb
(D) Auxiliary verb

Fill in the blanks supplying the appropriate
modals from among the choices given below
them.

183. You
the paper.
(A) Can
(B) Could
(C) May
(D) Might

write on both sides of

184. you ride your bicycle up to

that hill ?
(A) Can
(B) Could
(C) May
(D) Might

185. Hisdaughter be sixteen next

month.
(A) Shall
(B) Should
(C) will
(D) Would

186. The wound not heal in spite

of all the treatment he had.
(A) Shall

(B) Will

(C) should

(D) Would

MKG-XXXVGENSCD/1T/02

Fill in the blanks with correct form of non-finite
verbs given among the choices below each
sentence.

187.

It is wrong a lie before the

judge at least.
(A) totell
(B) telling
(C) have told
(D) told

188. She disliked my
(A) work

(B) worked
(C) working

(D) have worked

on Sunday.

189. My greatest pleasure is while

alone.

(A) singing
(B) tosing
(C) sung
(D) sang

190. He had rather
(A) to starve
(B) starve
(C) starved

(D) starving

than beg.

Choose the correct option to complete these
passive voice sentences from among the
choices given below them.

191. Thirty more people last week.
(A) were laid off

(B) were layed off

(C) were laying off

(D) were lie off




192. The old cinema
(A)
(B)
(C)
(D)

being pulled down
is been pulled down
is being pull down
is being pulled down

193. A story
(A) will be making up
(B) will being made up
(C) will be made up

(D) will been made up

Fill in the blanks with suitable conditionals from
the choices given below each sentence.

194. |Ifshe

the function.
(A) had invited
(B) invited

(©)
(D)

me, | would have attended

invites
have invited

195. [fit rains, he
(A) will

(B) would

(C) won't

(D) none of these

not come.

196. Ifhe had come here, |

a room to stay.
(A) would

(B) would have
(C) will have
(D) will

given him

L
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Each of the following idiom is followed by four
meanings. Indicate which one is correct.

197. To leave no stone unturned
(A) to keep clean and tidy
(B) to try utmost
(C) to work enthusiastically
(D) to change the things

198. To burn one’s fingers
(A)
(B)

(C)

to get injured in an accident
to pay a heavy price

to suffer from meddling in
something

(D)

to get a burn injury on the hands

Fill in the blanks choosing appropriate word
from the options given below them.

199. The government is confident that the
standard of living will begin to
again soon.

(A) rise
(B) lift
(C) flourish
(D) revive

200. Health is too important to be
(A) neglected
(B) discarded
(C) dispised

(D) detested
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Sufigani = fere wevegut s

13. This booklet contains 40 pages.

14. Directions : Each question or incomplete

15.

17.

18.

19.

statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method || Wrong Mathod || Wrong Method || Correct Method

O®00|000|0®00|ICe00

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14.

15.

16.

17.

18.

19.

T\ gfeas ¥ 40 9 2|

Few : TR Y Ay Y& HP FYT F 915
IR I AT T HUA IR T § | Ik g
¥ 3mTaeh! fohelt TR R FAAT & ST W9 1 GET I
& a1 HYF H T HL 3 TR IR 96 §
IYYH MR @A A, B, C 31 D @i =i a1 sHen
aie-ig 9 | Hien (@) F 2 | (gfReafim
Iudtga & fou wma memmnr fafues g
<hre fefan =)

ek WO < T 3 g o e ek 3T
I ford | 7m0 @ fomn = wom o famsifea |
fergifer s ot Tt wliem <1 feam mar 2 |

OR00|I0LOO|I0O®@00|0e00

Fneff o 9T I MY HiE T & Su
fafa s =g |

Y% WY H1 hae Th & WEl I B | SR
Yfa Sy FAT A, B, C 1 D % TR @H
%1 HIeT (@) T R | Ffe 3 et wea & wme
T § 31 MareR @M i Wi (@) 91 e
I A AT SR |

gfe fredt w7 % o=t qun St sEe # +5E
Fer & A1 30l g i wE T S |

Fed w1 % foe e yo7 93 | fou ™ =m w5
TN W | I YRR T w1 i A

39 e o gt HTUh! IR 3ifeha 78 w2 |
IR AT I AT H E 2

Go through instructions given in Page No. 1 (Facing Page)
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